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SECTION-A

1. In each of the following questions four answers are provided of which
only one is correct. Choose the correct answer. 1x10=10
oo &lfST5! 2 SifREIE Bes fral Stz | BitF fooT® ol S|
wg Be0o! iR S |
i) The number of subset of {p,q,5,s,t} is
(...t} TRZOF ToeRfOF A el —
a) 12 b) 16 c)32 d)64
i) If () 2logx+1=10g250 then (C9TI) the value of x (x I T=T)
a)3 b) 5 o)IlSEE=d)i20
iii) If (IM) g +5=—4 then (CSTI) the value of (M=)

a’+b’>-12ab+64

a) 0 b) 1 )13 d) 4
iv) Which of the following is not correct
(TR (I 7 123 )

a) a’(b—c)+b’(c—a)+c’(a—b)=—(a-b)(b-c)(c—a)
b) a*+b’ +c’ —(a+b+c)’ =-3(a+b)(b+c)(c+a)
¢) ab(a + b) + be(b +¢) + ca(c + a) + 3abc = (a + b +c)(ab + bc +ca)
d) aj(l:o2 - (:2) + bj(c2 - az)-i- 03(&12 - h2 ) = —(a~-b)(b-c)(c—-a)a+b+c)
v) Which of the following is not correct in Roman numerals.
A %G99 GeAd (BIC0] & 123 ?
a) MMM b) MCD
¢) CIVX d) XCIX

(1) P10




vi) Characteristic of 1og0.0002 is
l0g0.0002 3 9§fF 27
a) 3  Shilg g d3

1
vii) If (3f#) x+—1£=3 , value of (17 2°7) x w3

a)9 b) 12 c)7 d) 16
viii) Area of the rhombus whose diagonals are of length 10 ¢.m. and
14 c.m. is

<51 IR etera Ol 10 (6.8 o1 14 5.1, Tt =1
T —
a) 50 cm? b) 70cm  c¢) 90cm?®  d) 70cm?

iX) The value of x is (x I T T'=)
AV s
5 15

2 1 3
=7 DS g e

x) Conjuction of two statements p and q is written as

p S q 10! Of &3 [@rema ol 2 —
a) pAq b) p—>q c) pegq d) pvg

SECTION -B
2.1f @) a-b=10,ab=11 ;then find the value of
(ot T [efa $41) at+b

3. Find the sum in binary numbers (7w 52219 Qe ey 1)
110+11+10110

4. Write the difference between ¢ and {@)
@ TIF (D} I ETS A12 321 |

5. If U={x:x is a natural number less than 7} and B S 23,5},
C={1,2,3,6}, Find B —-¢'

% U={x:x @1 7 © T3 1 SIS 72201} &= B =(2.3,51
C={1,2,3,6}, cot7 p'_ ' Bfeyazy

(2)




vi) Characteristic of 10g0.0002 1s
10g0.0002 I A 2T

ay5 | byl G b3

1
vii) If (™) x+% =3 _ value of (NFZ) x* Vi

a) 9 b) 12 c)7 d) 16
viii) Area of the thombus whose diagonals are of length 10 c.m. and
14 c.m. is

Bt T Fefqeier e 10 6.5l =<6 14 -, IO S
el —
a) 50 cm? b)70cm  ¢) 90cm®* d) 70cm’

ix) The value of x is (x I 2'<1)
e
5 15

.

2 1 3
A) e S D) ES Om=nd) >

x) Conjuction of two statements p and q is written as
p SI1% q 10! Ofes QIS ol 28 —
a) pAq b)p—>q ¢ peq d) pvq

SECTION-B
2.If (@) a—b=10,ab =11 ,then find the value of
(Cote T [T ) atb

3. Find the sum in binary numbers ((2® J71F isiEe A a=1)
110+11+10110

4. Write the difference between ¢ and {D}
@ UIF (D) T AT A1 B4 |

5. If U={x:x is a natural number less than 7} and B ={2.3,5},
C={1,2,3,6}, Find B'—¢!
M U={xix @51 7 © @5 7% Sl 54l o B ={2 3,5},
C={1,2,3,6}, (9CT B'— ' BfFyeq|

(2)




ORI logf,;klogjgx logj; = x show that , x=8 2

3fit log!-xlog;xlogy, =x , (T (MYSTN @ x=8
7.1£(3M) 2x— y = 5 ,then show that (TS ¢l () 2

8x® —y® —30xy+27 =152
8. If (¥™) log 7.2=0.857332,find the value of (1 R ) D

log 7200 and (=) log 0.072 . |

9. Express into factors (SeAMFo 2w F41) | 2
& +3y+ 12z2)(12yz + 4zx + xy) —12xyz

10. Express in decimal system (7S afo®© 85 F10) 2
645,

11. Show that (T8I @) | 2
(ANnB)' =A4A"V B’

12. IfA={a,b,c} then write all the subsets of A 2

3t A={a,b,c} , (OTF AT HHIRIT TsEf® {2l

13. Showthat 4L U =U 2

@A A 4UU =U
14. If(?{fir') a® =b* =cb = d", then (CSCT) prove that :

(e 51t (@) log, abe =9 )
15. Sum of three consecutive even numbers is 48.Find the numbers. 2

TSRO Tie ol T IsTeeT 48 7yl foo1 e a1
SECTION-C

16. If (IM) g+ b +c =0, then (CSTI) prove that (AN I ()

a’ : b? i c’ %3 _
(0210 B —(td) E—(a+bY) 2 .

17. Prove that (&9 1 (¥)

1
Z<logf0<; 3

18. 1f (AW) 25 = g + b+ ¢, then (COTB) show that (MYeA @) 3

(3) P.T.O.



1 .
(8=a)" +(s=5)> £(S2c)° —3(s—a)s—b)s ) = ;(a3 +6° +c° —3a0

19. Prove that
I @ —
pA(@vr)=(pAq)Vv(pAr)

20. What number is to be multiplied with 1101 , to get the product
1000001,? 3
G FRY =75 1101, 239 SRC 3611 1000001, 272

21.IfA={2.4,6}, B={-1,0,1,2} then write the universal set of A and B
which contains the lowest number of elements. 3
T, A={2.4,6}, B={-1,0,1,2} (ST A =< B I 1 72205l
1R TS WIS I Gl AT | .

22. If a binary number ends with three zeroes, show that its decimal
expression is divisible by 23 3
<GBl (7 TR 17 FSFHO! *)ely Aifoeat or\e3t @ 2= i
FRAMCGT 23 (3 RerE |

23. Divide (Binary) 111111 by 110. 3
111111 % 110 (S 239 391 (079)

24.If (3W) ay3+b% +c% — (- then (CSTY) prove that
(&1 11 (@) 3

(a+b+c)’ =27abc |

11
25. Express the fraction T inradik fraction of base 8. 3

11
= GHIIT! 8 T 7 Saiess ot 3t |

SECTION-D

26.1f (3%) log165=2.2175 and (%) log 1181=3.0725 then ((9(3)
Find (319 f¢fa av4y) |

I
(0.00000165)

(4)



iﬁi .Oﬂthat(C"T‘{\‘ET &) (p+q+r)(x+y+z)=pi:+qy+rz 4

SECTION-E
20.1f @) p=x+y-z,g=y+z-xr= z+x—y, then (COCI)
prove that @i = @) |

P g +r =4+’ +2°) =3(pqr —4xy2)
30. (2) If 3™)

loga _ logb loge th (C9C3), prove that (ﬁ'ﬂT‘TW (€3))
b—clefc—a. a—
. 7 aabbccs:l
| (b) Prove that (/T =<1 ()

5
3+2=5

' log,mn =log,m+log,n

l 31. Internal assessment. (TSR 1 i) ; 10
o o3k % Xk

_i
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